;> # TAJICOID RESEARCH PG by H.E 2024-3-2 RV:

| > restrat :

;> with(StringTools) :

> print(#£FJF 143, [2, 1000, LEVEL NUMBER, FormatTime ("%Y-%m-%d-(%r)") ) :for hj

from 1 to21 doLC’ hj = 0 :0d: sc := 0 for i from 2 to 1000 do if not isprime(h)

thenn == h :hs = {h} forlefrom 1 to20dofs == 0:ft:==n:fp:=2:nc:=0:Hx:=

n :for p from 1 to zldo if fimod fp =0 then nc == nc + 1 : fi .= :7’) (FT||le||\nc = fp:

/izc| le=nc:fs = fs + fp elsefp := nextprime( fp) fi.od: hs == hs union { fs} :if

not isprime ( fs) thenn := fs elseif (# < 100 or (AR 100 and LC||/le < 4 and [e < 6)

) thenLC||le := LC||le + 1 : Hs||le|| (LC||le) == (% (hs[ —1]). hs[Lv(le)[No(LC

|| Ze)]]) fi: break if:od fi:od:for j from 1 to 7 do for jj from 1 toLC||jdo print(Hs|| j

|| /7) : od:od:

IEFIHE, [2,1000], LEVEL NUMBER, "2024-03-05-(10:10:25 PM)" 1)

H(6), 45,6y
No(1)
#(10), {7, lO)Lvll)N )
No(2)
HO2) (012,
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. No(4)
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#(40), (11,40},
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#(45), (11,45},
. Nol(8)
#(48), (11,48},
) No(9)
B(32), (17,52,
No(
(), (154,
No(11)
H(56), {1356},
) No(12)
B(S8), (31,58,
No(
H(63), (13,63},
) No(14)
H(75), (13,75 )0,
) No(15)
H(76), (23,76},
y No(16)
H#(80). {1380},
Ny No(17)
H(82), (43.82),,
Ny No(18)
H(88), (1788},
No(19)

#(90), (13,90},
No(20)

10)

13)

#(87). {7,10,32,87),,
No(11)
#(26), {5,6,8,15,26},,

No1)

#(33), {5,6,9, 14,33}, )
No(2)

#(39), {5,6,8,16,39},
No(3)

#(44), {5,6,8,15.44},

No(4)

£(49), {5,6,9, 14,49},
N

#(51), {5,6,9,20,51},,,,
N

#1(55), {5,6,8,16,55},,,,

No(7)

#(65), {5,6,8, 18, 65)“‘4)&
#(66), {5,6,8, 16, 66}”‘4)’\
2£(70), {5.6,9. 14, mh"“”;m)
20(77), {5.6.8, 18, 77}“‘4,“
2(78), {5.6.8, 18, 78}“‘4,“

#(84), {5.6.9. 14,84},
No(13)

H(91), {5.6.9.20,91},,
No

#(92), {5.6.9.27.92},, .
No

H(95), {5.6.9.24,95},,
No

H(98), {5.6.8.16,98},,
No(17)

#(100), {5,6,9, 14, IOO)L,,WNMS)
#(62), {5, 6,9, 14,33, ﬁz)mmm
#(69), {5, 6,8, 15,26, 69)Lv(%‘2)
#(74), {5, 6,8,16,39, 74)Lv(%‘3)

H(94), {5,6,9,14,49,94), o
No(4)
H(134), (5.6,8,15,26,69, 134},
N

o(1)

H(177), (5.6,9,14,33,62, 177},
No(2)

#(213), (5.6,8,16,39, 74,213},
No

#(262). {5, 6,8, 15,26, 133,262},
No(4)
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X 5 TAJICOID 2,3 by H.E:
=> restart:

> for Aj from 1 to 21 dnLC”h/ = 0 :0d: sc := 0 :for & from 2 to 100 do if not isprime(h)

and /s # 4thenn :=h :hs == {h} forlefrom 1 to20dofs = 0:fi:=n:fp:=2:

(96), {13,96},,,,
; No(21)
#(99), {1799},
) No(22)
H(8). {5.6.8},,,)
) No(1)
2(9), {5,6,9},,5,
No(2)
H(21), {7,10.21},
No(3)
#(25), {7,10.25},
No(4)
#(30), {7, 10,30},
No(5)
H(32), {7, 10,32},
No(6)
H(35), {7,12.35}, 5,
No(7)
H#(36), {7, 10,36},
No(8)
H(42), {7,12. 42},
No(9)
2(50), {7,12,50},, )
No(10)

H(57), (13,22, 57},
No(11)

o
#(85), {13,22.85},,,,
No(1
#(86), (11,45, 86},
No(17)
#(93), {19,34,93 o)
No(18)
H(14), (56,9, 14},
No(1)
#(15), {5,6,8.15},,5,
No(2
#(16), {5,6,8. 16},
No(3
(18), {5,6,8. 18}, 5,
No(4)
#(20), {5,6,9.20},,5
No(s
(24), {5.6,9.24},, 5,
No(6)
#(27), {5.6,9.27},,5,
No(7)
#(38), {7,10,21,38},
No(8)
#0(46), {7,10,25,46},,
No(

9)
#(68), {7,10,21,68},,
No(

10)
noo . . ft
nc = 0: Hx := n for p from | to 7do|{/tmod/p=0 thennc == nc+1:ft == E FT
le||nc = fp: finc||le == nc: fs = f5 + fp elsefp = nextprime( fp) fi:od: hs = hs

union { f} :if not isprime  fv) then n == fs else LC||le = LC||le + 1 : Hs||ld|(LC
|[le) = hs: break if:od fi :od:
|:> # takyokukyokusen LEVEL number 1-,6 shiyou tajicoid 2-7 nol.5+2002-3-19 :2023-8-3 rv
by H.E:

|:> #(X1,Y1) to (X2,Y2) wo tooru Line he (0,0) yori kudasita suisen no asi (XP,YP):

|:> with(plots):

|:> XP:=(Y1*X2-X1*Y2)*(Y1-Y2)/((X1-X2)"2+(Y1-Y2)"2):
|:> YP:=(X1*Y2-Y1*X2)*(X1-X2)/((X1-X2)"2+(Y1-Y2)"2):
|:> sx12:=subs(X1=x1,Y1=y1l,X2=x2,Y2=y2 XP):

[ syl2:=subs(X1=x1,Y1=y1,X2=x2,Y2=y2,YP):

|:> sx23:=subs(X1=x2,Y1=y2,X2=x3,Y2=y3 XP):

|:> sy23:=subs(X1=x2,Y1=y2,X2=x3,Y2=y3,YP):

|:> # (X1,Y1) to (X2,Y2) wo tooru Line he (XS,0) yori kudasita suisen no asi (XP,YP)
|:> #shuusei:
|:> s:=(-X1*¥X2+X 172+ Y1"2-Y1*¥Y2+XS*(X2-X1))/((X1-X2)"2+(Y1-Y2)"2):

[> XP:=s*(X2-X1)+X1:
[> YP:=s*(Y2-Y1)+Y1:

|:> sx21:=subs(X1=x1,Y1=y1,X2=x2,Y2=y2,XP):
|:> sy21:=subs(X1=x1,Y1=yl,X2=x2,Y2=y2,YP):
[> sx32:=subs(X1=x2.Y1=y2 X2=x3,Y 2=y3.XP):
|:> sy32:=subs(X1=x2,Y1=y2,X2=x3,Y2=y3,YP):

|:> # (sx12,sy12)-(sx23,sy23)=line kouten(XK,YK) (sx21,sy21)-(sx32,sy32)=line:

> XKi=((sx12*sy23-sy12*sx23)* (sx21-5x32)-(sx21 *sy32-sx32*sy21)* (sx12-sx23))/((sy12-

| sy23)*(sx21-sx32)-(sy21-sy32)*(sx12-sx23)):

> YK:=((sy12-sy23)*(sx21*sy32-sx32*sy21)-(sy21-sy32) * (sx12*sy23-sx23*sy12))/((sy12-sy23)
L *(sx21-sx32)-(sy21-sy32)*(sx12-sx23)):

|:> # LEVEL NUMBER by H.E:'23-1-9 RV:'23-7-11:1rv:

;> CP := [black, green, violet, blue, red, orange, pink, "SkyBlue"] :
L> with(StringTools) :

> #° ‘[x[ - %)-X! +yl-YI=0,x2=x1 + XI=xI +yl,y2=yl + Y=yl + % —xl



->prirzt( ) < print(#E7 I, [2,100], D, tajicoid, 2, FormatTime("%Y-%m-%d-(%r)"))

for jj from 1 tnLC’ 1 do foriifrom 1 to2 doa”ii = (Hs|| || jj)[ii]:od:j:=0:foril
from —1to 1 by2 dofori2from —1tol by2do fori3from —1tolby2do j:=j
Ly2=il-sqrt((al|1)t— (a||1)*),x3=a[2,y3=i2

+1:XD = sub.\'(/\'&':t, x2=a
1+ il-sqrt( (al| 1) -2 = ( a||l)z).yl=i1~sql‘l((a||1)

ssque( (al][2) = (a\|2)2),x1=a’
1,v2=il-sqrt( (a]|1)-t

l,XK] 1 YD = subs(XS=L,x2=a

2y 4+ Lo
1= (al|1)7) + 3 4
1+ il-sqrt( (al[1)-

2,v3=i2squt( (a|2)t— (a||2)’).xI =a |

— (a||1)’),x3=a
1, YK): T”j:=plot([XD,

—a

2 . 2 1
= (all1)’).yl=il-sqrt((a|| 1)t = (al|1)7) + 5
YD, t=al|2.. » ], axes =none, color=CP[j ]) : od:od;od; print(display( {seq(T|| j,
.8)})) i print((a|2)| Tajicoid, (1 -+ 1) [ EAXELE, (seq(alli,i=1.2))]=No(jj)],
HEHFEFE, FormatTime ("%Y-%m-%d-(%r)") ) : print( ) :od:
?
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[ ST
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?

oy HEFIEIEE, 12024-03-05-(10:10:28 PM)"

?
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?
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?
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?
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?
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~

o1y BETIEME, "2024-03-05-(10:10:29 PM)"
?

80 icora 2
S, 13,80
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?

=No(19)
7,88
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VS e e 43,82
?
90 ot 2 gy HEFIEFFE, "2024-03-05-(10:10:29 PM)"
13, )



96

Tajicoid, 2 ooy HEFHEIEE, "2024-03-05-(10:10:29 PM)”
VT et 13,96

?

oy, HET I, "2024-03-05-(10:10:29 PM)"
6,8 :
?

99, 2 oy HEF I, 12024-03-05(10:10:29 PM)”

SR, 17,99
?

->pr7'r1t( ) < print(#EFHHEE, [2,100], O, tajicoid, 3, FormatTime("%Y-Y%m-Y%d-(%r)")) :
for jj from 1 to LC||2 do for ii from 1 to3 do a||ii :==(Hs||2| jj) [ii]:ed:j == 0 : for il
from —1 to I by 2 do for i2 from —1to1by2do fori3from —1tolby2do ;:=;
+ 1:XD == subs(XS=t,xI =al[1,yl =il-sqrt( (a| 1)t — (a||1 )1), x2=al|2,y2=i2
ssqrt((al|2) = (a]|2)%), x3=al|3,y3=i3-sqrt( (a]|3)-t = (a]|3)?), XK) : YD =
subs(XS=t,xI=al|1,yl =il-sqrt( (a|| 1)t — (a||1 )2}, x2=al2,y2=i2sqrt((a]|2) t
—(a]|2)?),x3=a||3,y3=i3sqrt( (a||3) 1= (a||3)’), YK) : T||j = plot([ XD, YD, t
=al||3.. © ], axes =none, color = CP[ j ], scaling = constrained) : od;od;od;
print(display({seq(T||j,j=1.8)})): T =3 : print((a||3)[ Tajicoid, T| & 2 X/FLE,

(seq(al|i,i=1.3))]1=No(ji)], £ 7 H#=, FormatTime("%Y-%m-Yed-(%r)")) :
print( ) :od:

?
HEFIEEE, [2,100], D, tajicoid, 3, "2024-03-05-(10:10:29 PM)"

o
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?
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? ?
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=No(7)*
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=No(9)*
5.0
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?

JE T I, "2024-03-05-(10:10:30 PM)"
?
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Tajicoid, 3
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SRR, 7,10,36

Tajicoid, 3
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=No(10)>
0 o(10)

?
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Tajicoid, 3
.o

Tajicoid, 3
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TR 7,12, 64

=No(11)>
7

=No(13)>

IEFFHEZE, "2024-03-05-(10:10:30 PM)"

?

BEF AP, 2024-03-05-(10:10:30 PM)"
?

60,

72

Tajicoid, 3

=No(12)>

FERNERE, 7, 12, 60

Tajicoid, 3
jicoid 3

7,12, 7

| =No(14)®
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?
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?



8 icons 3 oy BE T, 2024-03-05-(10:10:30 PM)"
AR, T, 12,81
?
8614icoid 3 gAY HEF I, "2024-03-05-(10:10:30 PM)"
11,4556 ,

85 BEFH 1, "2024-03-05-(10:10:30 PM)"

Tajicoid, 3 =No(16)>
AR, 13,22, 85
?
93 14icoid, oy BE T, 2024-03-05-(10:10:30 PM)"
#.19,34,93
?
|> #TAJICOID 4,5:
L> restart:
> for hj from 1 to 21 do LC || j := 0 :0d: sc := 0 :for /2 from 2 to 100 do if not isprime(h)
andh # 4 thenn == h :hs:= {h} forlefrom | to20dofs == 0:ft:==n:fp:=2:
. . t
ne == 0: Hx := n for p from 1 to %du if fimod fp =0 thennc == nc+ 1 : ft == /L T
/4
le||\nc = fp: fuc||le :== nc:fs = fs + fp elsefp := nextprime( fp) fi:od: hs := hs
union { f5} :if not isprime( f5) thenn := fs else LC||le := LC||le + 1 : Hs||le|| (LC
|| le) := hs: break if:od fi :od:

|:> #(X1,Y1) to (X2,Y2) wo tooru Line he (0,0) yori kudasita suisen no asi (XP,YP):LLPL:
>

|:> with(plots):

|:> XP:=(Y1*X2-X1*¥Y2)*(Y1-Y2)/((X1-X2)"2+(Y1-Y2)"2):
[> YP=(X17Y2-Y1X2)* (X1-X2)/((X1-X2)"2+(Y1-Y2)"2):
|:> qx12:=subs(X1=x1,Y1=y1,X2=x2,Y2=y2,XP):



|> qy12:=subs(X1=x1,Y1=y1,X2=x2,Y2=y2,YP):
E> qx23:=subs(X1=x2,Y1=y2 X2=x3,Y2=y3 XP):

> qy23:=subs(X1=x2,Y1=y2,X2=x3,Y2=y3,YP):
[ qx34:=subs(X1=x3,Y1=y3 X2=x4,Y2=y4 XP):
E> qy34:=subs(X1=x3,Y1=y3,X2=x4,Y2=y4,YP):

> qx45:=subs(X1=x4,Y1=y4,X2=x5,Y2=y5 XP):
|:> qy45:=subs(X1=x4,Y1=y4 X2=x5Y2=y5,YP):

|:> 1x12:=subs
E> 1y12:=subs
> 1x23:=subs
[> ry23:=subs
> 1x34:=subs
> 1y34:=subs

X1=qx12,Y1=qy12,X2=qx23,Y2=qy23,XP):
X1=qx12,Y1=qy12,X2=qx23,Y2=qy23,YP):
X1=qx23,Y1=qy23,X2=qx34,Y2=qy34,XP):
X1=qx23,Y1=qy23,X2=qx34,Y2=qy34,YP):
X1=qx34,Y1=qy34 X2=qx45,Y2=qy45 XP):
X1=qx34,Y1=qy34,X2=qx45,Y2=qy45,YP):

E> sx12:=subs(X1=rx12,Y1=1y12,X2=rx23,Y 2=ry23 XP):
> syl12:=subs(X1=rx12,Y1=ry12 X2=rx23,Y2=ry23,YP):
[ sx23:=subs(X1=rx23,Y1=ry23,X2=rx34,Y 2=ry34,XP):
|:> sy23:=subs(X1=rx23,Y1=ry23,X2=rx34,Y2=ry34,YP):

|:> #(X1,Y1) to (X2,Y2) wo tooru Line he (XS,0) yori kudasita suisen no asi (XP,YP)
> #shuusei:
> 5= ((X1*X24 X172+ Y 172-Y 1#Y 24 XS* (X2-X1))/((X1-X2) "2+ (Y1-Y2)A2):

[> XP:=s*(X2-X1)+X1:
[> YP:=s*(Y2-Y1)+Y1:

[> qx21:=subs(X1=x1,Y1=y1,X2=x2 Y2=y2,XP):
[> qy21:=subs(X1=x1,Y 1=y1,X2=x2,Y2=y2 YP):
[ qx32:=subs(X1=x2,Y1=y2,X2=x3,Y2=y3 XP):
|:> qy32:=subs(X1=x2,Y1=y2 X2=x3,Y2=y3,YP):
|:> qx43:=subs(X1=x3,Y1=y3,X2=x4,Y2=y4,XP):
[ qy43:=subs(X1=x3,Y1=y3,X2=x4,Y2=y4,YP):
|:> qx54:=subs(X1=x4,Y1=y4 X2=x5Y2=y5 XP):
[> qy54:=subs(X1=x4,Y1=y4,X2=X5,Y2=y5,YP):

|:> 1X21:=subs
|:> 1y21:=subs
|:> x32:=subs
|:> 1y32:=subs
|:> x43:=subs
[> ry43:=subs

X1=qx21,Y1=qy21,X2=qx32,Y2=qy32,XP):
X1=qx21,Y1=qy21,X2=qx32,Y2=qy32,YP):
X1=qx32,Y1=qy32,X2=qx43,Y2=qy43,XP):
X1=qx32,Y1=qy32,X2=qx43,Y2=qy43,YP):
X1=qx43,Y1=qy43,X2=qx54,Y2=qy54,XP):
X1=qx43,Y1=qy43,X2=qx54,Y2=qy54,YP):

|:> sx21:=subs(X1=rx21,Y1=ry21,X2=rx32,Y 2=1y32,XP):
[ sy21:=subs(X1=rx21,Y1=ry21,X2=rx32,Y2=ry32,YP):
|:> sx32:=subs(X1=rx32,Y1=ry32,X2=rx43,Y2=ry43 XP):

14 icoia s oy B THEEE, 12024-03-05-(10:10:40 PM)"
HEIXEERE, 5,6,9,14

|> sy32:=subs(X1=rx32,Y 1=1y32,X2=1x43,Y 2=1y43,YP):

|:> # (sx12,sy12)-(sx23,sy23)=line kouten(XK,YK) (sx21.sy21)-(sx32,sy32)=line:

[~ XK:=-((sx12*sy23-sy12*sx23)*(sx21-5x32)-(sx21*sy32-sx32*sy21) *(sx12-sx23))/((sy12-

L sy23)*(sx21-sx32)-(sy21-sy32) * (sx12-sx23)):

> YK:=((sy12-sy23)*(sx21*sy32-sx32*sy21)-(sy21-sy32)* (sx12*sy23-sx23*sy12))/((sy12-sy23)
| *(sx21-sx32)-(sy21-sy32)*(sx12-sx23)):

| > with(combinat):

|> CP = [black, green, violet, blue, red, orange, pink, "SkyBlue"] :

L> with(StringTools) :

3 do for i from 1 to4 doa | ii = LHS
from —1tolby2do fori2from —1tolby2do fori3from —1tolby2do fori4

from —1tol by2do j:=j+ 1:XD:= xubsLXS=t.x_7=a ‘l,_\72=i1-sqrt((a|| 1)t

> for jj from 1 toLC‘ 3||jj][ii] iod: j = 0:foril

— (a||1)?),x3=al|2,v3=i2-sqrt( (a]|2) -t = (a]|2)?), x4 =al||3, 4 =i3-sqrt( (a]|3)-¢

— (a]13)7),x5=al|4,v5=id-squt( (a][4) 1= (a]|4)’),x] =al||l + il-squt((a] 1)1

= (all1y)vt=itsan( (@] 1)t~ (@l[1)*) + 5 —a

l,XK) : YD =

subx[XS:I‘xZ:a Ly2=il-sqrt((al| 1)1 = (a]|1)*),x3=a

2, y3=i2-sqrt( (a]|2) -t

— (a]|2)?),x4=a

‘3,)'4=i3-sqn({a|\3)~t— (a||3)2),.\‘5=a

‘4,,v5=i4-sqn({aH4)~t

— (all4)’),xI=al||l +il-squt((al| 1)t = (al[1)*),pI=il-sqre( (a|[1)1= (a| 1))

+ % —alll, YKJ H T”j = plot([ XD, YD, t=a||4 .. » ], axes = none, color = CP[ (j

mod 8) + 1) : odsod;od:od; print(display( {seq(T|| j.j=1..16)})) : print((a
114)[ Tajicoid, (3 + 1) [ FEAXTELE, (seq(alli,i=1.4))]=No(jj)]. BT HIEZ,
FormatTime ("%Y-%m-%d-(%r)")) :od:

1S pyjicoid 4 oy FEFHEE, "2024-03-05-(10:10:46 PM)"
HEIXEERE, 5,6,8,15




T sy EE T, 12024-03-05-(10:10:52 PM)"
TS e iz s 6,806 )

sy HEFIF A, "2004-03-0510:11:03 PM)"

.5, 6,9,20

18

24

Tajicoid, 4
FEANERE, 5,6,8, 18

Tajicoid 4

15,6,9,24

oy BT I, "2024-03-05-(10:10:57 PM)"

<

vogey HEFIERIF, "2024-03-05-(10:11:09 PM)"



=2 o

27 icnid 4 oy SE T, "2024-03-05-(10:11:17 PM)" 38 i 4 o) SETIFHEE, "2024-03-05-(10:11:22 PM)"
HRNELE, 5,6,9,27 SRR, 7, 10,21, 38
46 a4 ooy HETIFHEE, "2024-03-05-(10:11:30 PM)" [S— otoy HETIEFE, 12024-03-05-(10:11:36 PM)"

A, 7,10,25,46 6,7, 10,21,68




87 BEFIE I, "2024-03-05-(10:11:42 PM)" 26 HEF A1, 12024-03-05-(10:11:53 PM)"

Tajicoid, 4 =No(11)>
SRR, 7, 10,32, 87

> for jj from 1 to LC||4 do for ii from 1 to 5 do a||ii :==(Hs||4]| jj) [ii]:0d:j := 0 : for i/ from
—1tol by2do fori2from —1tolby2do fori3from —1tolby2do fori4from
—1tol by2do :fori5from —1tolby2do j:=j+ 1:XD:=subs(XS=t,xI=al|l,yI
=ilsqrt((al|1)t = (al|1)?),x2=a||2,y2=i2squt( (a]|2) 1 = (a]|2)?),x3=al 3,3
i3-sqrt((al|3)t — (al|3)°),x4=al|4, y4=i4-squt( (a||4) 1 — (a]|4)*),x5=a] 5,5
=i5-sqet( (a||5) 1= (a||5)7), XK) : YD = subs(XS=t,xI =al|1,yl =il

sqet( (al| 1)t = (a|1)?), x2=al|2, y2=i2-sqrt( (a]|2) -t = (a]|2)*), x3 =al|3,y3=i3
-sqrt((al|3)-t— La\|3)2),x4=u”4, vd=i4-sqrt((al|4)-t— (a||4)z),,\'5=aHS,}'5=15
ssqrt((al|5) 1= (a]|5)*), YK) : T|| j = plot([ XD, YD, t=al|5 .. ® ], axes = none, color
=CP[(jmod8) + 1]) : od:od;od:od:od; print(display( {seq(T|| j., .32)})) s print((a
I15)[ Tajicoid, (4 + 1) XPERE, (seq(al|i,i=1.5))]=No(jj)], ET7IHZF,
FormatTime ("%Y-%m-%d-(%r)")) :od:

Tajicoid, S =No(1)®
SERXEELS, 5, 6,8, 15,26

@

33

Tajicoid, Tajicoid, 5 =No(3)

o2y HET I, "2024-03-05-(10:12:03 PM)" 39 IE I, "2024-03-05-(10:12:18 PM)"
33 N 5 8,16,39




M i s

ooy BE T, "2024-03-05-(10:12:34 PM)”

SEANEELS, 5,6,8, 15,44

51

Tajicoid, 5

=No(6)*
, 51

\

U FIE R, "2024-03-05-(10:12:59 PM)"

49

55

Tajicoid, 5

Tajicoid, 5

SEANEELR, 5,6,9, 14,49

S

=No($5)

o),

=No(7)®
55

N

N—

IE A, "2024-03-05-(10:12:44 PM)"

HE I, "2024-03-05-(10:13:15 PM)"



)
)

D

65 sy EEF I, "2024-03-05-(10:13:31 PM)"

Tajicoid, 5
SERXEELS, 5, 6,8, 18,65

Tsenas o0y HEFIFIEF, "2024-03-05-(10:13:56 PM)"
IR, 5,6,9, 14,70

[Io— ooy HEF I, "2024-03-05-(10:13:41 PM)"

SERXEELS, 5, 6,8, 16,66

T rgicoids, o1y HEF I, "2024-03-05-(10:14:12 PM)"
HEIINEFE 5,6, 8,18,77



@
{

78 oy BE T, 12024-03-05-(10:14:23 PM)"

Tajicoid,5
JERNEL, S, 6,8, 18,78

@

D

Mrgicoias o4y HEF I, "2024-03-05-(10:14:48 PM)"
S ITNEEFE, 5, 6,9, 20,91

84, s ois) BEF I, 12024-03-05-(10:14:33 PM)"
YO e peiele, 5, 6,9, 14,84 Y
K/\/\\
\8 I
92 icoia s o1y HEF I, "2024-03-05-(10:14:59 PM)"

S ITNEEFR, 5,6,9,27,92



[

95 o s o1y HE T, "2024-03-05-(10:15:14 PM)"
SERNELE, S, 6,9,24,95
@ ’\
1007014 5 o1y HEFIEIEE, 12024-03-05-(10:15:45 PM)"

L AT, 5,6,9, 14,100
| > #TAJICOID 6,7 by H.E:
=> restart:

> for /ij from 1 to 21 dnLCth = 0 :0d: sc := 0 :for & from 2 to 1000 do if not isprime(h)

and i # 4 thenn = h :hs == {h} for lefrom | t020dofs == 0:fi:=n:fp:=2:

ne =0 : Hx = n for p from 1 to Zldoif/imod_[iy=0 thennc :=nc+1:fi = /L; (FT

le||nc = fp: fuc||le = nc: fs = fs + fp elsefp = nextprime( fp) fi:od: hs = hs

union { f5} :if not isprime( fs) thenn := fs else LC|{le := LC|le+1: ifleR 5 and le

< 6and LC||le < 4 then Hs||le|| (LC||le) := hsfi: break if:od fi :od:

j> #(X1,Y1) to (X2,Y2) wo tooru Line he (0,0) yori kudasita suisen no asi (XP,YP):

|:>

|:> with(plots):

)

2

98 o1y HE T, "2024-03-05-(10:15:30 PM)"

Tajicoid,
JERNELE, S, 6,8, 16,98

> XP:=(Y1*X2-X1¥Y2)*(Y1-Y2)/((X1-X2)"2+(Y1-Y2)"2):
| > YP:=(X1*Y2-Y1*X2)*(X1-X2)/((X1-X2)"2+(Y1-Y2)"2):
|> qx12:=subs(X1=x1,Y1=y1,X2=x2,Y2=y2 XP):
> qyl12:=subs(X1=x1,Y1=y1,X2=x2,Y2=y2,YP):
| > qx23:=subs(X1=x2,Y1=y2,X2=x3,Y2=y3 XP):
| > qy23:=subs(X1=x2,Y1=y2,X2=x3,Y2=y3,YP):
> qx34:=subs(X1=x3,Y1=y3,X2=x4,Y2=y4 XP):
| > qy34:=subs(X1=x3,Y1=y3,X2=x4,Y2=y4,YP):
| > qx45:=subs(X1=x4,Y1=y4,X2=x5,Y2=y5 XP):
= qy45:=subs(X1=x4,Y1=y4 X2=x5Y2=y5YP):
| > qx56:=subs(X1=x5,Y1=y5,X2=x6,Y2=y6,XP):
| > qy56:=subs(X1=x5,Y1=y5,X2=x6,Y2=y6,YP):
| > qx67:=subs(X1=x6,Y1=y6,X2=x7,Y2=y7 XP):
[> qy67:=subs(X1=x6,Y1=y6,X2=x7,Y2=y7,YP):

[>x12 =subs(X1=qx12,Y1=qy12,X2=qx23,Y2=qy23,XP):
[ 1yl12:=subs(X1=qx12,Y1=qy12,X2=qx23,Y2=qy23,YP):
|:> 1x23:=subs(X1=qx23,Y1=qy23,X2=qx34,Y2=qy34,XP):
|:> 1y23:=subs(X1=qx23,Y1=qy23,X2=qx34,Y2=qy34,YP):
[> rx34 =subs(X1=qx34,Y1=qy34,X2=qx45,Y2=qy45,XP):
[> ry34:=subs(X1=qx34,Y1=qy34,X2=qx45,Y2=qy15,YP):
|:> x45:=subs(X1=qx45,Y1=qy45,X2=qx56,Y2=qy56,XP):
[ 1y45:=subs(X1=qx45,Y1=qy45,X2=qx56,Y2=qy56,YP):
|:> x56:=subs(X1=qx56,Y1=qy56,X2=qx67,Y2=qy67,XP):
|:> 1y56:=subs(X1=qx56,Y1=qy56,X2=qx67,Y2=qy67,YP):

|:> ux12:=subs(X1=rx12,Y1=ry12,X2=rx23,Y2=ry23,XP):
|:> uyl2:=subs(X1=rx12,Y1=ry12,X2=rx23,Y2=ry23,YP):
|:> ux23:=subs(X1=rx23,Y1=ry23,X2=rx34,Y2=ry34 XP):
|:> uy23:=subs(X1=rx23,Y 1=ry23,X2=rx34,Y2=ry34,YP):
|:> ux34:=subs(X1=rx34,Y1=ry34,X2=rx45,Y2=ry45 XP):
|:> uy34:=subs(X1=rx34,Y1=ry34,X2=rx45,Y2=ry45,YP):
|:> ux45:=subs(X1=rx45,Y 1=ry45,X2=rx56,Y2=ry56,XP):
|:> uy45:=subs(X1=rx45,Y 1=ry45,X2=rx56,Y2=ry56,YP):

|:> vx12:=subs(X1=ux12,Y1=uy12,X2=ux23,Y2=uy23,XP):
|:> vyl2:=subs(X1=ux12,Y1=uy12,X2=ux23,Y2=uy23,YP):

|:> vx23:=subs(X1=ux23,Y1=uy23,X2=ux34,Y2=uy34,XP):
[ vy23:=subs(X1=ux23,Y 1=uy23,X2=ux34,Y2=uy34,YP):

|:> vx34:=subs(X1=ux34,Y 1=uy34,X2=ux45,Y2=uy45, XP):
[ vy34:=subs(X1=ux34,Y 1=uy34,X2=ux45,Y2=uy45,YP):
|:> sx12:=subs(X1=vx12,Y1=vy12,X2=vx23,Y2=vy23 XP):
|:> sy12 = subs(X1=vx12, Y1 =vyl2, X2=vx23,Y2=vy23, YP) :



L> 5x23 = subs(X1 = vx23, Y1 =vy23, X2 = vx34, Y2 =vy34, XP) :
|:> sy23 i= subs(X1 =vx23, Y1 =vv23, X2 =vx34, Y2=vy34, YP) :

|:> # (X1,Y1) to (X2,Y2) wo tooru Line he (XS,0) yori kudasita suisen no asi (XP,YP)
E> #shuusei:

> 5:=(-X1*X2+X1/2+Y1/2-Y1*Y2+XS*(X2-X1))/((X1-X2)"2+(Y1-Y2)2):
|:> #shuseimae s:=(-X1*X2-Y1*Y2+X2*XS)/((X1-X2)"2+(Y1-Y2)"2):

[> XP:=s*(X2-X1)+X1:
[> YP:=s*(Y2-Y1)+Y1:

[ qx21:=subs(X1=x1,Y1=y1,X2=x2,Y2=y2 XP):
> qy21:=subs(X1=x1,Y1=y1.X2=x2,Y2=y2,YP):
> (x32:=subs(X1=x2,Y1=y2 X2=x3,Y2=y3 XP):

[ qy32:=subs(X1=x2,Y1=y2,X2=x3,Y2=y3,YP):

E> qx43:=subs(X1=x3,Y1=y3 X2=x4,Y2=y4 XP):
> (y43:=subs(X1=x3,Y1=y3 X2=x4,Y2=y4,YP):

[ qx54:=subs(X1=x4,Y1=y4,X2=x5,Y2=y5 XP):
> qy54:=subs(X1=x4,Y1=y4,X2=x5,Y2=y5,YP):
> (x65:=subs(X1=x5,Y1=y5,X2=x6,Y2=y6 XP):

[ qy65:=subs(X1=x5,Y1=y5,X2=x6,Y2=y6,YP):
> x76:=subs(X1=x6,Y1=y6,X2=x7,Y2=y7 XP):
> qy76:=subs(X1=x6,Y1=y6 X2=x7,Y2=y7,YP):

[> a1 =subs(X1=qx21,Y1=qy21,X2=qx32,Y2=qy32,XP):
[ ry21:=subs(X1=qx21,Y1=qy21,X2=qx32,Y2=qy32,YP):
|:> x32:=subs(X1=qx32,Y1=qy32,X2=qx43,Y2=qy43,XP):
[ 1y32:=subs(X1=qx32,Y1=qy32,X2=qx43,Y2=qy43,YP):
[> x43 =subs(X1=qx43,Y1=qy43,X2=qx54,Y2=qy54,XP):
[> ry43 =subs(X1=qx43,Y1=qy43,X2=qx54,Y 2=qy54,YP):
[> rx54 =subs(X1=qx54,Y1=qy54,X2=qx65,Y2=qy65,XP):
[ 1y54:=subs(X1=qx54,Y1=qy54,X2=qx65,Y2=qy65,YP):
[> rx65 =subs(X1=qx65,Y1=qy65,X2=qx76,Y2=qy76,XP):
[ 1y65:=subs(X1=qx65,Y1=qy65,X2=qx76,Y2=qy76,YP):

[ vx21:=subs(X1=rx21,Y1=ry21,X2=rx32,Y2=ry32,XP
[ vy21l:=subs(X1=rx21,Y1=ry21,X2=rx32,Y2=ry32,YP
|:> vx3 bs(X1=rx32,Y1=ry32,X2=rx43,Y2=ry43 XP,

(

(

(

=

):
):
):
[> vy32:=subs X1=rx32,Y1=1y32,X2=rx43,Y 2=ry43,YP):
[> vx43:=subs X1=rx43,Y1=ry43,X2=rx54,Y 2=ry54 XP):
|:> vy43:=subs(X1=rx43,Y1=ry43 X2=rx54,Y2=ry54,YP):
[ vx54:=subs(X1=rx54,Y1=ry54,X2=rx65,Y2=ry65,XP):
|:> vy54:=subs(X1=rx54,Y1=ry54 X2=rx65,Y2=ry65,YP):

62

Tajicoid, 6

o1y HEF IR, 12024-03-05-(11:46:10 PM)"
SEXEERR, 5, 6,9, 14,33, 62

| > wx21:=subs(X1=vx21,Y 1=vy21 X2=vx32,Y2=vy32 XP):
| > wy21 :=subs(X1=vx21,Y1=vy21,X2=vx32,Y2=vy32,YP):
| > wx32:=subs(X1=vx32,Y 1=vy32,X2=vx43,Y2=vy43 XP):
| > wy32:=subs(X1=vx32,Y 1=vy32 X2=vx43,Y2=vy43,YP):
> wx43:=subs(X1=vx43,Y 1=vy43,X2=vx54,Y 2=vy54,XP):
| > wy43:=subs(X1=vx43,Y 1=vy43 X2=vx54,Y2=vy54,YP):
| > sx21:=subs(X1=wx21,Y1=wy21,X2=wx32,Y2=wy32 XP):
> sy21:=subs(X1=wx21,Y1=wy21,X2=wx32,Y2=wy32,YP):
| > sx32:=subs(X1=wx32,Y 1=wy32,X2=wx43,Y2=wy43 XP):
| > sy32:=subs(X1=wx32,Y1=wy32 X2=wx43,Y2=wy43,YP):

|:> 1 (sx12,sy12)-(sx23,sy23)=line kouten(XK,YK) (sx21,sy21)-(sx32,sy32)=line:

B XK:=-((sx12*sy23-sy12*sx23)*(sx21-sx32)-(sx21*sy32-sx32*sy21) *(sx12-sx23))/((sy12-
L sy23)*(sx21-sx32)-(sy21-sy32)*(sx12-sx23)):

L *(sx21-sx32)-(sy21-sy32)*(sx12-sx23)):

:> CP := [black, green, violet, blue, red, orange, pink, "SkyBlue" | :
|> with(StringTools) :

> for jj from 1 to4 do for ii from 1 to 6 doa :j = 0:foril from

i = [Hs

5||j/][ir‘] ‘od

—1tol by2do fori5from —1tolby2do fori6from —Itolby2doj:=;+1:
XD = Subs(XS=t,x2=u Ly2=ilsqrt( (@l 1) = (all1)?), x3=a

12) 1= (a]|2)?). x4=a |3, y4=i3-squt( (a]|3)t = (a]|3)?),x5=a

[|4)-t— (a||4)2),x6=a 5,y6=i5-sqrt( (al|5)-t— (a||5)°),x7=a

116)1= (al|6)*),xI=a |1+ il-sqt((a|/1)-t= (a|1)*),yI=il-sqt((al 1)t

—@n?) +5-a

I,XK] : YD = .ylzbs(XS=r, x2=a

/

*
2
[1)t= (a][1)*),x3=a

‘2.y3=i2-sqn((a\|2)‘t— (u||2)2).x4=u

13) 1= (al|3)?), x5 =a |4, y5=i4-sqrt((a]|4)t — (a]|4)?),x6=a

I15)t= (al|5)).x7=al|6,y7=i6-sqrt((a||6) -t — (a||6)*),xI =a||1 + il -sqrt( (a

1)t = (all 1))l =ilsat((all 1)1 = (@] 1)°) + 5 —a

1, YK] : T”j =

/

od; print(display({seq(T|| j,j=1..64)})) : print((a||6)[ Tajicoid, (5+ 1)[/
(seq(al|i,i=1..6))|=No(jj)], 47 H 4=, FormatTime("%Y-%m-Yd-(%r)

"

69

Tajicoid, 6

oz BETH I, 12024-03-06-(01:32:24 AM)"
HIIXEERE, 5,6, 8,15, 26, 69

> YK:=((sy12-sy23)*(sx21*sy32-sx32*sy21)-(sy21-sy32) * (sx12*sy23-sx23*sy12))/((sy12-sy23)

—1tolby2do fori2from —Itolby2do fori3from—1tolby2do fori4from
2,v3=i2-sqrt( (a
4,y5=i4-squt( (a

6,7 =i6-sqrt( (a

1,y2=il-sqrt( (a

3,34 =i3-sqrt( (a

5,y6=i5-sqrt( (a

plot([ XD, YD, t=a||6 .. ® ], axes = none, color=CP[ (jmod 8) + 1]) : od;od;od;0d;od;




T4 1icoid 6 sy BE T, 12024-03-06-(02:53:25 AM)"
FERXHEE, 5,6,8, 16,39, 74
(» ‘.\'/.
b
134 icoia 7 oy HE A, 12024-03-06-(09:08:53 AM)"

HECTNEERR, 5,6,8, 15,26, 69, 134
J=0

941 ieoid 6 —No(4) JEFFH 1, 12024-03-06-(05:03:05 AM)"
RN, S, 6,9, 14,49, 94

_> )

>for jj from 1 to 4 do for ii from 1 to 7 do a || ii :=(Hs||6||jj) [ii]: end do;
j=0;
for il from -1 by 2 to 1 do
for i2 from -1 by 2 to 1 do for i3 from -1 by 2 to 1 do for i4 from -1 by 2 to 1 do for i5

from -1 by 2 to 1 do for i6 from -1 by 2 to 1 do for i7 from -1 by 2 to 1 doj :=j+ 1; XD :=
subs(XS=t,xI =a|| 1,yl =il*sqrt(a| 1*t-a || 12),x2 =a|| 2, y2 = i2*sqrt(a || 2*t - a||
2°2),x3=al|3,y3 =i3%sqrt(a || 3*t-a|[ 3"2), xd = a || 4, y4 = id*sqrt(a || 4*t - a || 4"2), x5
=a|l5 y5=1i5*sqrt(a|| 5*t-al| 5"2),x6 =a || 6,y6 =i6*sqrt(a || 6%t-al| 672), x7 =a || 7,
y7 =iT*sqrt(a || 7*t- a || 772), XK); YD :=subs(XS = t, x1 =a || 1, yl = il*sqrt(a || 1*t-a ||
172).x2 =a || 2, y2 = i2*sqrt(a || 2*t- a || 2°2), x3 = a || 3, y3 = i3*sqrt(a || 3*t - a || 3"2), x4
=al|4,y4=id*sqrt(a || 4*t-a || 472), x5 =a || 5, yb = i5*sqrt(a || 6*t-a [ 5"2), x6 = a|| 6,
y6 = 16*squ || 6*t-al| 6"2),x7 =a|| 7,y7 =iT*sqrt(a || 7*t - a || 772), YK); T || j := plot(

[XD, YD, t=al|| 7 .. infinity], axes = none, color = CP[(j mod 8) + 1]); end do; end do; end
do; end do: end do; end do;
end do;
punt(dlsplay {seq || =1..128)}));print((a ||7) [Tajicoid, (6 + 1)["FEXHEKE , seq(a ||
i,i=1.7)]=No(l #@ *, FormatTime("%Y-%m-%d-(%r)")):end do;
Jj=0

177 picora 7 oy FEFHEHE#, "2024-03-06-(12:15:37 PM)"

MRS, 5, 6,9, 14,33, 62,177
J=0



7\

Gy

BEFH 1, "2024-03-06-(05:37:45 PM)"

O

21370 7 =No(3)>
MR, S, 6,8, 16,39, 74,213

j=0

262

Tajicoid, T

SN, S, 6,8, 15,26, 133,262

oy BT, "2024-03-06-(11:06:56 PM)"



